AFLK UK DI@ER K OVNBE D AR EFH

TR T 1 =
X B & B RKIREGHE AR R E S S
4 BR . HUIsEORGR

1. A*L&Uﬁff’]d)@ﬁhﬁﬁﬂ‘é%ﬁ
- A AL 5 A EEAGL
- AN HLFE A B 0 STHESHIH

-\ A EE A 0 B (BAERENRE)

- AL F A L BR (ALORGE & OVEFLE)

- AN AL & B B (ALORE L OVEFLE)

% L F A BRRASHRmarYLr Yy BERRE K B R 2
- % L & # 6, 900, 000 M

2. ZHORNFICHET HFHE
- EHEREA . BT, L B

¥ B EREA 0 B RIRIRELGE 6% ARG R SR

5 A o RIEE = EITREE TFEeE TN

HE 2o ARLE B AKL
BLFRA - T
FEAREA - GBI E S
%méﬁxﬁaiﬁ
RTY w7 a A EE

- BHIFEEA

LK EE A Stz BWELE K G 52 2
- LKA : 7,590, 000 P9 (BisA L)
- JEITHAR S fn 7 & 5 H 16 H

. H
= 4 f 8 & 3 H 31 H



AL B O ALE 12O\ T

-3 % X it A SRR ERIREEE %A I R
2- N L H# A H : Sf74E5H9H
3- A FL % Ar . ZBIRY ITES

4- N AL & B K O %

5 1[a] 5 2lm] AFLFE 4 B OMEFT W %
o 00000 7 D7 kAt = F| e
e 18 05 A 5 T T 1 195 T e L
0,600, 000 HAARA FHmR RS A IR
e 18 0 A O T I 7535
N At N T
6, 300, 000 AR BR AT A% P T ?E,%E%EBUJ%?@WT9%§12%
RS 2= e B & % sk
H 500, 000 L VLA T AT 6 35 6
00, 000 MRSt M=oy [k W w2 Sk
e 15 b WL 1L T LT 1628 3 55 VEAL
|
|
|
|
|
|
SRS R S N NN BER A W R 2
6. % fL & % 6, 900, 000

(Bithk =)



TREERARETEAESNRE

F OB |BH 1 B gEa | COURUNAIE GOSN gag | 9000 L
G 4 KB S BHE KT EFT®E F N
LA T | 330 H
AKLFT 2 B E AKL
B - 90T
FEAKEAR « FHER E S
REEBEE B
LIRE N oy an
R 4 & % ¥ B A&
B T4 R REH UTZEESL gr 1E Hh =
7 T R A fgﬁé T ETk
YN INZ SN jZEE = O =
REARATEIRK S | R TR FLAeb Y
7&4
SR LA L HAAH %’ﬁg o |EEam T2 Y
Mttt <2 3 %{%ﬁéﬁ o selmEERTIT 6 6 FL e
Bt a s oy [FRPE e a1 6% B FLhH Y
KK F Z
&t 5 £t
Fito B THEFAXEEORALEEZNHR LT,
SFT4E3 A28 H
THEHANERA R ELZBEAEZRRE K
TEHEEFERE HIBEBCRGREE X FE A




